[image: vitruvian man discrete]Leonardo da Vinci wrote about10 ratios between different parts of the body. He showed them in the ‘Vitruvian Man’

Using the following measurements, try to recreate the drawing in your book
 
	square length
	circle radius

	24 squares
(12 cm)
	14 squares
(7cm)Where would the centres of each shape be?





	Measurements

	From the top of the head to the bottom of the chin is one eighth the height

	Maximum width of the shoulders is a quarter of the height of a man.

	From the pectorals to the top of the head is one quarter the height 

	Below the foot to below the knee is a quarter of the height of a man.Not a good drawing…Can you do better?


	Height is equal to arm span 



Extension: More Measurements

· Elbow to the end of the hand is a quarter of the height of a man.
· Length of the hand is one-tenth of the height of a man.
· The foot is one-seventh of the height of a man
· Above the chest to the top of the head is one-sixth of the height of a man
· Below the chin to the top of the head is one-eighth of the height of a man
· From the pectorals to the top of the head is a quarter of the height of a man.
· the distance from the elbow to the armpit is one-eighth of the height of a man.
· Distance from the below the chin to the nose and the eyebrows and the hairline are equal to the ears and to one-third of the face.
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